
48h
HIC
210x4

TX40
Ø4

13 1917 5 6

TX45

0302S1 0302S2

32,5h
[cm]

v012 
02.01.2020
I. A.

0302



[cm]



0302S1

[cm]



0302S2

[cm]



  1
80

  
  9

0 
 

  3
70

  

  1074  

  2
10

  

  2
10

  

  1
20

  

  1
20

  

  9
0 

 

  1520  

[cm]



  1
80

  
  9

0 
 

  2
10

  

  3
70

  

  1116  

  941  

  1
20

  

  1
20

  

  9
0 

 

  2
10

  

  2
10

  

0302S1

[cm]



  1
80

  
  9

0 
 

  2
10

  

  3
70

  

  941  

  1
20

  

  1
20

  

  9
0 

 

  2
10

  

  1461  

0302S2

[cm]



  150  

  1
00

  

  200  

  R
10

0  

  R100  
  R170  

  1
00

  
  1

50
  

  R
170  

  R190  

  200  

  100  

  100  

  1
50

  

  150  

  1
00

  
  1

00
  

  170  

  R150  

  R
19

0    R190  

  R
19

0  

  200  

  R100  

  R
10

0  

  150  

  1
50

  

  R150  

  R150    R
15

0  

  R100  

  R
10

0 
 

  1
38

0 
 

  1
07

4 
 

  1904  

  1520  

W1

W2

W3

[cm]



  150  

  150  

  1
00

  

  200  

  R
10

0  

  R100  

  R150  
  R170  

  1
00

  
  1

50
  

  R
170  

  R190  

  1
50

  

  150  

  170  

  1
00

  
  1

00
  

  R150  

  R
19

0  

  1
00

  
  1

00
  

  R100  

  200  

  R
10

0 
 

  1
50

    R150    R
15

0  

  9
41

  

  1
90

  

  1
28

1 
 

  1116  

  200  

  R
10

0  

  R100  

  1516  

W1

W2

W3

0302S1

[cm]



  150  

  150  

  1
00

  

  200  

  R
10

0  

  R100  

  R150  
  R170  

  1
00

  
  1

50
  

  R
170  

  R190  

  1
50

  

  150  

  170  

  R150  

  R
19

0  

  1
00

  
  1

00
  

  200  

  R
10

0  

  1
00

  
  1

00
  

  200  

  R100  

  1
50

    R150    R
15

0  

  R
15

0  

  1
90

    R
190    R190  

  9
41

  

  1
28

1 
 

  1461  

  1861  

W1

W2

W3

0302S2

[cm]



0,
06

 m
³

x1

48hx4 32,5h

  4
0 

 

  40    4
0  

  2
0 

 

B.

  3
0 

 

C.

  4
0 

 

A.

  45°  

  R10  

  m
in

20
  

0,
06

 m
³

x1

Ø4

K1

55

40

40

0,00

K2

55

40

15

0,00

K3

15

40

5

0.00

Ø10

  2
0 

 B.

  45°  

  R10  

  m
in

20
  

  3
0 

 C.

  4
0 

 A.

  2
0 

 B.

  45°  

  R10  

  m
in

20
  

  3
0 

 C.

  4
0 

 A.

Ø10

0.00

5

40

15

K3

0,00

15

40

55

K2

Ø10

Ø10

K1, K2, K3

K23

70

0,00

K3

15

40

5

0.00

K23

70

0,00

  6
1 

 

  52  

  1
0 

 

  113  

  8
0 

 
  1

13
  

  1
05

    57  

  228  

  4
2 

 

  3
5 

 

  5
2 

 
  1

4 
 

  75  

  113  

  8
0 

 

  1
13

  

  36  

  1
05

  

  7
4 

 

  388  

  407  

  308  

  1
13

  
  8

0 
   136  

  1
40

  

  34  

  79  

  5
6 

 

  
66

  

  368  

  3
7 

 

  3
8 

 

  3
08

  

W1

W2

W3

M10x120
x6

K2, K3

NOT
INCLUDED

K2, K3

M10x120
x

Ø8

K2, K3

NOT
INCLUDED

M10x120
x68

M8x120
x10

Ø8

K1, K3
M10x120

x68
M8x120

x10

K3

15

40

5

0.00
Ø8

NOT
INCLUDED

[cm]

3010402020405540min. 2045°R10 5
 22,518
,6



0,
06

 m
³

x1

48hx4 32,5h

  4
0 

 

  40    4
0  

  2
0 

 

B.

  3
0 

 

C.

  4
0 

 

A.

  45°  

  R10  

  m
in

20
  

0,
06

 m
³

x1

Ø4

K1

55

40

40

0,00

K2

55

40

15

0,00

K3

15

40

5

0.00

Ø10

  2
0 

 

B.

  45°  

  R10  

  m
in

20
  

  3
0 

 C.

  4
0 

 A.

  2
0 

 

B.

  45°  

  R10  

  m
in

20
  

  3
0 

 C.

  4
0 

 

A.

Ø10

0.00

5

40

15

K3

0,00

15

40

55

K2

Ø10

Ø10

K1, K2, K3

K23

70

0,00

K3

15

40

5

0.00

  6
1 

 

  52  

  1
0 

 

  113  

  8
0 

 
  1

13
  

  1
05

    57  

  228  

  4
2 

 

  3
5 

 

  5
2 

 
  1

4 
 

  75  

  113  

  8
0 

 

  1
13

    308  

  1
13

  

  1
13

  
  8

0 
   136  

  1
40

  

  34  

  79  

  5
6 

 

  
66

  
  3

08
  

  265  

  4
2 

 

  3
5 

 

  4
2 

 

  3
5 

 

  264  

M10x120
x6

K2, K3

NOT
INCLUDED

K2, K3

M10x120
x

Ø8

K2, K3

NOT
INCLUDED

M10x120
x68

M8x120
x10

Ø8

K1, K3

NOT
INCLUDED

M10x120
x68

M8x120
x10

0302S1

[cm]



0,
06

 m
³

x1

48hx4 32,5h

  4
0 

 

  40    4
0  

  2
0 

 

B.

  3
0 

 

C.

  4
0 

 

A.

  45°  

  R10  

  m
in

20
  

0,
06

 m
³

x1

Ø4

K1

55

40

40

0,00

K2

55

40

15

0,00

K3

15

40

5

0.00

Ø10

  2
0 

 

B.

  45°  

  R10  

  m
in

20
  

  3
0 

 C.

  4
0 

 A.

  2
0 

 

B.

  45°  

  R10  

  m
in

20
  

  3
0 

 C.

  4
0 

 

A.

Ø10

0.00

5

40

15

K3

0,00

15

40

55

K2

Ø10

Ø10

K1, K2, K3

K1, K2, K3

B220-1
x4

K1, K2, K3

K23

70

0,00

K3

15

40

5

0.00

  6
1 

 

  52  

  1
0 

 

  113  

  8
0 

 
  1

13
  

  1
05

    57  

  228  

  4
2 

 

  3
5 

 

  5
2 

 
  1

4 
 

  75  

  113  

  8
0 

 

  1
13

    308  

  1
13

  

  1
13

  

  8
0 

   136  

  1
40

  

  34  

  79  

  5
6 

 

  
66

  
  3

08
  

  3
6 

 

  178  
  379  

  3
8 

 

  7
2 

 

  3
6 

 
  3

8 
 

  379  
  178  

  7
2 

 

M10x120
x6

K2, K3

NOT
INCLUDED

K2, K3

M10x120
x

Ø8

K2, K3

NOT
INCLUDED

M10x120
x68

M8x120
x10

Ø8

K1, K3

NOT
INCLUDED

M10x120
x68

M8x120
x10

0302S2

[cm]



W1
[cm]



K1, K2

992109
x2

991229
x1

K1, K2 K3

992138
x2

K1

032177
x 2

K3

032176
x 1

x 2
CK1

x 1
035101

x 1
035106

x 1
031146

x 3
031110

x 1
031112

x 1
031103

x 1
031274

x 1
031102

x 1
031115

x 1
031277

x 1
0302K

x 1
0302L

x 1
0302G

x 1
0302J 0302H

x 1 x 1
0302I

x 3
CK2 032150

x 1 x 1
032144

x 1
031295

x 1
031145

x 1
031247

x 1
031121

x 1
031100

x 1
031101

x 1
032124

x 1
031147

x 1
031149

x 2
031148

031150
x 4 x 1

996184 031113
x 2 x 1

031124
x 1

031125 031114
x 1 x 1

996178

0302S1 x 1
031314

x 1
031126

x 1
031127

x 1
031150

x 1
994138

x 1
031554

x 1
994152

W1

P78-3
x2

K1

K1

992100
x2

K1

992109
x2

991229
x1

K1

031273
x 1

0302S2

[cm]



0302S10302S3

W1

0302S2

3 x CR1 4 x CR45
 5 x CR2  2 x CR68
 1 x CR3  4 x CR24
 1 x CR4 1 x CR25 
 2 x CR6  1 x CR28
 2 x CR10 4 x CR110 (C5H)

 1 x CR36
 2 x CR11  2 x CR40
 1 x CR14  6 x CR47
 2 x CR15  1 x E7
2 x CR17  1 x E44 (K1)

  1 x CR18 1 x CL9
 7 x CR20 2 x CR98

1 x CR23 (C5H) 1 x CR113
1 x CR87 (C9H) 1 x CR111 (C9H)

3 x CR91 1 x CR112 (C5H)
1 x V001 2 x CR24 (C9H)

4 x CR109 (C9H) 2 x CR22 (C5H)

4 x CR24 (C9H) 1 x CR24 (C9H) 1 x CR106
1 x CR8  1 x CR7 1 x CR7

 1 x CR102  1 x CR29 (S1) 1 x CR18
1 x CR45  1 x E34 (K1) 1xE179

4 x CR22 (C5H) 1 x CR18
1 x CR22 (C5H)
1 x CR89 (S6)

[cm]





CTX20

3 4

TX40

108 Ø10

TX30

Ø42

PS51 PH51

19

3 x CR45
1 x CR68

PH51

17

1 x CR45 (S3)

TX45 6

0302S1

0302S2

1 x CR45

1 x CR45

0302S3

W1

1 x CR45
1 x CR68

1 x CR68

1 x CR68

[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

PS51 PH51

19

PH51

17 TX45 6

W1

3 x CR45
1 x CR68

[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

PS51 PH51

19

PH51

17

3 x CR1

TX45 6

W1

2 x CR2

[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

DETAIL AM

SCALE 1 : 100

1 x CR4

1 x CR8

2 x CR6

1 x CR3

17 6

1 x CR102

W1[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

4 x CR24 (C9H)
4 x CR22 (C5H)

1 x CR2

1 x CR10 (C9H, C5H)

W1[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

4 x CR24

1 x CR2

1 x CR18

0302S1

1 x CR2

1 x CR7

1 x CR10 (C9H, C5H)1 x CR24 (C9H)

W1

1 x CR22 (C5H)

[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

E34

W1

0302S1

1 x CR29 (S1)
1 x CR89 (S6)

K1

[cm]



  70    156  

CTX20

3 4

TX40

108 Ø10

TX30

Ø42

X

X
X

X

X

X

X X

Ø9 

9

0302S2

W1[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

10

 Ø10

0302S2

W1

X

XX

1 x E179

[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

1 x CR106

0302S2

1 x CR2

1 x CR10

W1[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

1 x CR7

1 x CR18

0302S2

W1[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

1 x CR2

DETAIL AS

SCALE 1 : 100

2 x CR24 (C9H)

4 x CR110 (C5H)

2 x CR22 (C5H)

1 x CR112 (C5H)

1 x CR10

1 x CR10 (C9H, C5H)

1 x CR111 (C9H)

4 x CR109 (C9H)

W1[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

DETAIL AT

SCALE 1 : 100

DETAIL AT

SCALE 1 : 100

K1, K2, K3

K1, K2, K3

6 x CR47

SCALE 1 : 100

1 x CR10

1 x CR28

W1[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

2 x CR98

2 x CR91

2 x CR15

2 x CR91

3 x CR47

1 x CR91

W1[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

DETAIL AVSCALE 1 : 100

DETAIL AS

SCALE 1 : 100

3 x CR47

1 x CR17

1 x CR113

1 x CR20

W1[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

DETAIL AVSCALE 1 : 100

DETAIL AS

SCALE 1 : 100

3 x CR47

1 x CR20 1 x CR20

W1[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

DETAIL AS

SCALE 1 : 100

1 x CR21 x CR18

1 x CR11

1 x CR87 (C9H)

W1

W1

1 x CR23 (C5H)
[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

AX

DETAIL AX

SCALE 1 : 100

1 x CR11

1 x CR14

W1

DETAIL AS

SCALE 1 : 100

[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

DETAIL AY

SCALE 1 : 10

DETAIL AS

SCALE 1 : 100

BC

DETAIL BC

SCALE 1 : 10

1 x CR20

W1

1 x CL9

1 x CR17

1 x CR25

1 x CR40

2 x CR40

1 x CR25

1 x CR17

1 x CL9

1 x CR20

[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

DETAIL AY

SCALE 1 : 10

BD

DETAIL AS

SCALE 1 : 100

BC

DETAIL BC

SCALE 1 : 10

DETAIL BD

SCALE 1 : 25

BE

DETAIL BE

SCALE 1 : 100

3 x CR20

W1

DETAIL BD

SCALE 1 : 25

[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

DETAIL AY

SCALE 1 : 10

E44

DETAIL AS

SCALE 1 : 100

BC

DETAIL BC

SCALE 1 : 10

E7

K1

1 x CR36

W1[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

DETAIL AY

SCALE 1 : 10

48h 48h48h

48h

DETAIL AS

SCALE 1 : 100

DETAIL 

SCALE 1 : 2

0,
06

 m
³

x15

W1[cm]



W2
[cm]



K1, K2

992109
x2

991229
x1

K1, K2 K3

992138
x2

K3

032176
x 1

x 2
CK1

x 1
0302A

x 1
0302B

x 1
0302C

x 1
0302D 0302E

x 1 x 1
0302F

x 3
CK3 032147

x 1 x 1
032146

x 1
031133

x 1
031134

x 1
031130

x 1
022103

x 1
034153

x 1
031143

x 2
031138

x 1
031144

x 2
031110

x 2
031140

x 1
031139

x 1
031159 031137

x 2 x 1
031197

x 1
994137

W2

x 1
031135

x 1
031141

x 1
031136

x 1
035105

x 1
035100

x 1
035107

K1

992100
x2

P78-3
x2

K1

3 x CR1 1 x CR29 (S1)
 6 x CR2 1 x CR33
 3 x CR7  1 x CR34
 2 x CR11  1 x CR35
 3 x CR12  4 x CR47
 1 x CR13  1 x E34 (K1)
 2 x CR14 1 x CR89 (S6) 
 1 x CR18  1 x CR99
 1 x CR20  2 x CR91

 3 x CR24 (C9H)  2 x CR98 (C9H)
4 x CR45  2 x CR90 (C5H)
 1 x CR68 1 x CR107 (C9H)
 1 x CR27 1 x CR108 (C5H)

3 x CR22 (C5H) 1 x CR119

[cm]





CTX20

3 4

TX40

108 Ø10

TX30

Ø42
19

17 TX45 6

2 x CR45

W2

2 x CR45
1 x CR68

[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42
19

1 x CR2
1 x CR13

1 x CR111 x CR2

3 x CR7

17

3 x CR1

TX45 6

W2

3 x CR1

[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

2 x CR98 (C9H)

17 6

1 x CR102

W2

2 x CR2

2 x CR91

2 x CR90 (C5H)

[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

1 x CR20

1 x CR2

2 x CR12

W2

2 x CR24 (C9H)

1 x CR2

2 x CR22 (C5H)

[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

1 x CR27

W2

1 x CR24 (C9H)

1 x CR14

1 x CR18

1 x CR11

1 x CR22 (C5H)

[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

E35 E34E34 E35

K1 K2 K3

1 x CR34

1 x CR33

1 x CR107 (C9H)

1 x CR2

W2

DETAIL AY

SCALE 1 : 10

1 x CR108 (C5H)

[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

1 x CR34

1 x CR99

1 x CR34

1 x CR14

1 x CR34

1 x CR2

1 x CR12

W2

1 x CR12

[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

E34

W2

1 x CR29 (S1)

K1

1 x CR89 (S6)

[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

1 x CR10

W2

1 x CR119

[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

K1, K2, K3

1 x CR10

W2

1 x CR35
4 x CR47

[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

W2[cm]



48h

x4

TX40
Ø4

13 1917 5

W3

14h



K1, K2

992109
x2

991229
x1

K1, K2 K3

992138
x2

K1

032177
x 2

K3

032176
x 1

K1, K2

992100
x2

992100
x2

K3

992109
x2

K1

991229
x1

K1

x 2
CK1

x 1
031110

x 1
031112

x 1
031115

x 1
031277

x 1
0302M

x 1
0302N

x 1
0302O

x 1
0302P 0302R

x 1 x 1
0302S

x 3
CK3 032152

x 1 x 1
032151

x 1
031209

x 1
031208

x 1
022102

x 1
031177

x 1
031176 031298

x 1

x 1
031124

x 1
031125 031114

x 1 x 1
304100

0302S1 x 1
031315

x 1
031126

x 1
031127

x 1
031150

x 1
994137

x 1
031557

x 1
994154

x 1
035105

x 1
031113

x 1
031122

x 1
031123

x 1
031281

x 2
031280

x 1
035102

P78-3
x2

K1

031289
x 1

031272
x 1x 1

031180
x 1

034110

031152
x 1

K1

992100
x2

W3
0302S2

[cm]



0302S10302S3 0302S2

W3

3 x CR45 1 x CR26
 1 x CR68 1 x CR37
3 x CR1 2 x CR41
 4 x CR2 1 x CR42
1 x CR4 1 x CR43
1 x CR5 1 x CR91
2 x CR10 2 x CR98
1 x CR12 1 x CR34
1 x CR13 1 x CR33
1 x CR14 1 x CR107 (C9H)
2 x CR15 1 x CR108 (C5H)
1 x CR18 1 x V001
1 x CR19
5 x CR20

1 x CR119
1 x CR113

1 x CR45 1 x CR24 (C9H) 1 x CR106
1 x CR8 1 x CR29 (S1) 1 x CR7

1 x CR102 1 x CR89 (S6) 1 x CR18
4 x CR24 (C9H) 1 x E34 (K1) 1 x E179
4 x CR22 (C5H) 1 x CR22 (C5H)

[cm]





CTX20

3 4

TX40

108 Ø10

TX30

Ø42

PS51 PH51

19

PH51

17 TX45 6

0302S1

0302S2

2 x CR45

1 x CR45

0302S3

1 x CR68

1 x CR68

1 x CR68

2 x CR45

1 x CR45

W3[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

PS51 PH51

19

PH51

17 TX45 6

2 x CR45

W3[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

PS51 PH51

19

PH51

17

3 x CR1

TX45 6

2 x CR2

2 x CR2

W3[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

DETAIL AM

SCALE 1 : 100

DETAIL AM

SCALE 1 : 100

2 x CR6

17 6

1 x CR102

1 x CR5

DETAIL AM

SCALE 1 : 100

1 x CR8

0302

1 x CR4

1 x CR42

W3[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

1 x CR2

1 x CR10

4 x CR24 (C9H)
4 x CR22 (C5H)

W3[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

0302S1

1 x CR2

1 x CR7

1 x CR101 x CR24 (C9H)

1 x CR18

1 x CR2

1 x CR22 (C5H)

W3[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

E34

0302S1

1 x CR29 (S1)

K1

1 x CR89 (S6)

W3[cm]



  70    156  

CTX20

3 4

TX40

108 Ø10

TX30

Ø42

X

X
X

X

X

X

X X

Ø9 

9

0302S2

W3[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

10

 Ø10

0302S2

W3

X

XX

1 x E179

[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

0302S2

1 x CR2

1 x CR10

1 x CR106

W3[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

0302S2

1 x CR18

1 x CR7

W3[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

1 x CR2

1 x CR10

1 x CR24

4 x CR101

1 x CR10

1 x CR18

W3[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

1 x CR10

1 x CR43

1 x CR20

W3[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

2 x CR15

3 x CR47

1 x CR91
2 x CR98

W3[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

3 x CR47

1 x CR113

1 x CR20

W3[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

3 x CR47

1 x CR19
1 x CR20

1 x CR33 (C9H)

1 x CR107 (C9H)
1 x CR108 (C5H)

W3[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

DETAIL AX

SCALE 1 : 100

DETAIL AX

SCALE 1 : 100

BJ

1 x CR13

1 x CR18

1 x CR87 (С9H)

W1

1 x CR11

1 x CR23 (С5H)

1 x CR14

1 x CR12

W3[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

DETAIL AX

SCALE 1 : 100

1 x CR34

DETAIL AY

SCALE 1 : 10

AX

DETAIL AX

SCALE 1 : 100

BK

1 x CR12

1 x CR14

1 x CR34

1 x CR99

1 x CR34

1 x CR34

W3[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

DETAIL AY

SCALE 1 : 10

2 x CR41

1 x CR26

2 x CR411 x CR26

BC

DETAIL BC

SCALE 1 : 10

1 x CR20

1 x CL9

1 x CR17

1 x CR25

1 x CR40
W3[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

DETAIL AY

SCALE 1 : 10

BC

DETAIL BC

SCALE 1 : 10

BE

DETAIL BE

SCALE 1 : 100

BM

2 x CR19

DETAIL BD

SCALE 1 : 25

W3

2 x CR20

[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

DETAIL AY

SCALE 1 : 10

BC

DETAIL BC

SCALE 1 : 10

BN

E7

K1 K2

1 x CR37

K2

K1

E7

W3[cm]



CTX20

3 4

TX40

108 Ø10

TX30

Ø42

DETAIL AY

SCALE 1 : 10

48h 48h48h

48h

0,
06

 m
³

x10

1 x CR119

W3[cm]



w1+w2+w3
[cm]



K1, K2

992109
x2

991229
x1

K1, K2 K3

992138
x2

K3

032176
x 1

W1+W2+W3

032131
x 1 x 1

032132
x 1

034162
x 1

034161

x 1
034163

x 1
034164

x 1
035103

x 1
035104

x 2
032175

4 x CR2
1 x CR28
1 x CR38
1 x CR39

[cm]



17 6W1+W2+W3

2 x CR2

[cm]



17 6W1+W2+W3
1 x CR38

2 x CR56

[cm]



17 6W1+W2+W3

2 x CR2

2 x CR56

1 x CR39

[cm]



  
2 

m
m

  

CTX20

3 4

TX40

108 Ø10

TX30

Ø42

V001

2,9

6,
3

10

10

  
2 

m
m

  

[cm]


